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English - English

Question No.1 Marks: 1.00

Bookmark
Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.

My wallet had been lost by me
(A) O Ilost my wallet

(B) O | have been lost my wallet
(C) O | have lost my wallet
(D) O I had lost my wallet (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00

Bookmark
Fill in the blanks with suitable Article from the given alternatives.

We are trying to give incredible performance in the farewell day function.
(A)O a

(B) O the

(C) O an (Correct Answer) (Chosen option)

(D) O No article

Question No.3 Marks: 1.00

Bookmark
Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Roja ordered her servant to bring her a cup of milk.
(A) O Roja said her servant, "Bring me a cup of milk."

(B) O Roja said to her servant, "Bring me a cup of milk." (Correct Answer)
(Chosen option)

(C) © Roja told to her servant, "Bring me a cup of milk."
(D) © Roja begged her servant, "Bring me a cup of milk."

Question No.4 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

We will playing cricket next Monday with our team.

(A) O will have playing

(B) O have played

(C) O will be playing (Correct Answer) (Chosen option)
(D) O The given sentence is correct
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Question No.5

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

The traffic incharge asked the man not to park his car there.
(A) O The traffic incharge told the man, "Does not park your car here".

(B) O The traffic incharge told to the man, "Do not park your car here".

(C) O The traffic incharge told the man, "Do not park your car here". (Correct
Answer) (Chosen option)

(D) © The traffic incharge told the man, "Do not park your car there".

Question No.6

Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The face value of fake currency in Indian rupees was around Rs 87 crore, as per the
preliminary estimate.

(A) O of fake currency in Indian rupees were (Chosen option)
(B) O of fake currency above Indian rupees was

(C) O of fake currency above Indian rupees were

(D) © The given sentence is correct (Correct Answer)

Question No.7

Find the word which is correctly spelt from the given options.
(A) O Paraphrese

(B) © Resollution
(C) © Uniformmity
(D) © Receptive (Correct Answer) (Chosen option)

Question No.8

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A person who has changed his faith
(A) © Chauvinist

(B) © Bohemian
(C) © Apostate (Correct Answer) (Chosen option)
(D) © Connoisseur

Question No.9

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A person who regards the whole world as his country
(A) O Invocation

(B) © Obsolete
(C) © Cosmopolitan (Correct Answer) (Chosen option)
(D) © Veteran
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Bookmar
Fill in the blanks with suitable Article from the given alternatives.

The chief selector said that the former skipper remains best wicket-
keeper and finisher in the game.

(A) O No article

(B) O the (Correct Answer) (Chosen option)
(C)O an

DO a

Question No.11 Marks
Bookmar
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Residing primarily on Western Australia’s Rottnest Island, Quokkas loves for sleep and
are the happiest of all animals.

(A) O loves to sleep and is the happiest of

(B) O love to sleep and are the happiest of (Correct Answer)
(C) O love to sleep and is the happiest of (Chosen option)
(D) O The given sentence is correct

Case Study -12 to 16
Directions: Read the passage carefully and answer the questions that follow.

The Brihanmumbai Municipal Corporation (BMC) on Wednesday declared a 10 per cent water cut
across the city for residential, commercial and industrial purposes as well. The water cut would be
in place with immediate effect, from November 15, after the civic chief approved the cut. This
announcement comes in the backdrop of deficient rainfall that led to a less-than-adequate water
stock in the dams and lakes that supply water to Mumbai. As of November 14, the civic body
needs water for 278 days till the onset of the next monsoon, but currently has water for only 254
days.

The seven lakes supplying potable water to the city have received 8 per cent less water than last
year and so the civic body was likely to impose water cuts. The information about the imposition of
the water cut was given to the civic standing committee in its meeting on Wednesday but no
discussion was held as the meeting was adjourned owing to the death of union minister Ananth

Kumar.
Question No.12 Marks
Bookmar
The civic body runs short of water for how many days?
(A) © 20days
(B) © 30days
(C) O 24 days (Correct Answer) (Chosen option)
(D) O 26days
Question No.13 Marks
Bookmar

Read the following statements and select the option as per the passage given
above.

Statement 1: The civic standing committee adjourned the meeting to ignore the
discussion on water cut issue considering it to be unimportant.

Statement 2: The BMC declared a water cut across the city due to deficient rainfall in
Mumbai.

(A) O Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true (Correct Answer) (Chosen
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option)
(C) O Both the statements are true
(D) O Both the statements are false

Question No.14

According to the passage, what does the word 'adjourned' mean?
(A) O Commenced

(B) O Suspended (Correct Answer) (Chosen option)
(C) O gathered
(D) © Approved

Question No.15

Why was watercuts imposed in Mumbai?

(A) O To prevent shortage of water for later days (Correct Answer) (Chosen
option)

(B) O To prevent watercuts in other cities
(C) © To use it for industrial purposes
(D) © Both1and2

Question No.16

How many lakes supply potable water to the city?
(A)O 10

(B) O 7 (Correct Answer) (Chosen option)
(€O 8

(D)yO 15

Question No.17

Fill in the blanks with suitable Article from the given alternatives.

bread is the predominant food prepared from a dough of flour and water.
A) O No article (Correct Answer) (Chosen option)

(

(B) O the
(C)O an
(D)O a

Question No.18

Fill in the blank with suitable verb from the given options.

My evening workout plan of running for fifteen consecutive minutes
without stopping to rest.

(A) O produces

(B) O consists (Correct Answer) (Chosen option)
(C) O controls

(D) O contains

Question No.19

Choose the word which expresses nearly the opposite meaning of the given word "
IMBECILE ".

(A) O Smart (Correct Answer) (Chosen option)
c26ot.onlineapplicationform.org:8585/QP1/8zSmSTOdPdfOt3vZYRIsMg==.html
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(B) O Inane
(C) O Dull
(D) O Thick
Question No.20
E
Fill in the blanks with suitable Preposition from the given alternatives.
India's new data localisation provisions make it mandatory foreign
companies to store personal data of their users and customers in India within the Indian
territory.
(A) O of
(B) © about
(C) O behind
(D) O for (Correct Answer) (Chosen option)
Question No.21
E
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)
(A) Gudi Padwa or the Marathi New Year is / (B) celebrate on the first day / (C) of the
month of Chaitra. / (D) No Error
(A)O B (Correct Answer) (Chosen option)
(B) O
(C) O D
DO A
Question No.22
E
Fill in the blank with suitable tense.
My team volleyball for six years.
(A) O playing
(B) O have played
(C) O have been playing
(D) O has been playing (Correct Answer) (Chosen option)
Question No.23
E
Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.
The chief justice commanded them to call the accused in the court.
(A) O The chief justice said to her, "Call the accused in the court".
(B) O The chief justice said to them, "Please Call the accused in the court".
(C) O The chief justice said them, "Call the accused in the court". (Chosen option)
(D) O The chief justice said to them, "Call the accused in the court". (Correct
Answer)
Question No.24
E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
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The engaging show were set in a village where Jeetendra’s character has started his
first government job.

(A) O was sets in a village where

(B) O was set in a village whom

(C) O was set in a village where (Correct Answer) (Chosen option)
(D) O The given sentence is correct

Question No.25

E

Choose the word which expresses nearly the opposite meaning of the given word "
BESET "

(A) O Nudge

(B) O Harass

(C) O Invade

(D) O Clarify (Correct Answer) (Chosen option)

Question No.26

E

Fill in the blank with suitable word from the given options.

The institute provides highly computer systems.

(A) O beloved

(B) O sophisticated (Correct Answer) (Chosen option)

(C) O noticed

(D) O alleged

Question No.27

E

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.
The professor said, “Gandbhi ji was born in India."

(A) © The professor ordered that Gandhiji was born in India.

(B) O The professor said that Gandhiji was born in India. (Correct Answer)

(Chosen option)

(C) O The professor said that Gandhiji is born in India.
(D) © The professor said that Gandhiji has been born in India.

Question No.28

E

Fill in the blank with suitable word from the given options.

The entertainment industry has in the recent decade.
(A) O thrived (Correct Answer) (Chosen option)

B) O vowelled
C) O retarded
D) O mauled

(
(
(

Question No.29

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Pipe dream.

(A) O Having a tendency to something

(B) © An impossibility (Correct Answer) (Chosen option)

e AF AR LA A T A AL IS R R L
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3/22, 9:17 AM View Question Paper
(C) © A motivational speech
(D) O A complex, tricky, or odd person

Question No.30

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The best indicators of a university’s performance is the learning outcomes and how its
education has impacted the students and society.

(A) O is the learning outcomes and what

(B) © was the learning outcomes and how

(C) O are the learning outcomes and how (Correct Answer) (Chosen option)
(D) O The given sentence is correct

Question No.31

E
Fill in the blank with suitable tense.
| living in that city for seven years before | moved to Sydney.
(A) O have been
(B) © will have been
(C) O am
(D) © had been (Correct Answer) (Chosen option)
Question No.32
E
Choose the word which best expresses the similar meaning of the given word "
STAGGER ".
(A) O Peak
(B) O Continue (Chosen option)
(C) O Shake (Correct Answer)
(D) O Steady
Question No.33
E
Choose the word which expresses nearly the opposite meaning of the given word "
EFFEMINATE ".
(A) O Epicene
(B) O Sissyish
(C) © Womanlike
(D) © Manly (Correct Answer) (Chosen option)
Question No.34
E

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who often talks of his achievements
(A) O Reciprocate

(B) O Funambulist (Chosen option)
(C) © Psephologist
(D) O Egotist (Correct Answer)
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Question No.35

Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.

How much do you like your sister?

(A) © How much does your sister like by you?

(B) © How much does your sister liked by you? (Chosen option)
(C) © How much is your sister liked by you? (Correct Answer)
(D) © How much is your sister like by you?

Question No.36

Find the word which is correctly spelt from the given options.
(A) O Jubilent

(B) © Ephimeral

(C) O Unaffected (Correct Answer) (Chosen option)

(D) © Garulous

Question No.37

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who is not easily pleased by anything
(A) © Anonymous

(B) O Fastidious (Correct Answer) (Chosen option)
(C) O Insolation
(D) © Renovation

Question No.38

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

They said, "Let us come in".

(A) O They requested that they might be allowed to come in. (Correct Answer)
(Chosen option)

(B) © They requested they might be allowed to come in.
(C) O They requested that they might being allowed to come in.
(D) © They requested that they might been allowed to come in.

Question No.39

Fill in the blank with suitable tense.

The product manager the target of production for this month.
(A) O has successfully achieved (Correct Answer) (Chosen option)

(B) © had successfully achieves

(C) © have successfully achieved

(D) © have successfully achieves

Question No.40

Find the word which is correctly spelt from the given options.
(A) © Temporal (Correct Answer)

c26ot.onlineapplicationform.org:8585/QP1/82SmSTO0dPdfOt3vZYRIsMg==_htmi|
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3/22, 9:17 AM View Question Paper
(B) O Trauema (Chosen option)

(C) O Underwritte

(D) © Santuary

Question No.41

Choose the word which best expresses the similar meaning of the given word "
PERTURB ".

(A) O Soothe

(B) © Confuse (Correct Answer) (Chosen option)
(C) O Ad

(D) O Organize

Question No.42

Choose the word which expresses nearly the opposite meaning of the given word "
SLENDER".

(A) O Fragile

(B) © Spare

(C) O Heavy (Correct Answer)
(D) © Narrow (Chosen option)

Question No.43

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The Academy announced that the best picture category will now be fixed at 10 films,
rather than the fluctuating number of nominations.

(A) O announce that the best picture category will

(B) O announce which the best picture category will

(C) © announced that the best picture category need to (Chosen option)
(D) O The given sentence is correct (Correct Answer)

Question No.44

Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.

Which movie did you see last day?

(A) © Which movie was saw by you last day?

(B) O Which movie was seen by you last day? (Correct Answer) (Chosen option)
(C) © Which movie was being seen by you last day?

(D) © Which movie was been seen by you last day?

Question No.45

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

A blessing in disguise.

(A) O To be under attack

(B) O Things are going well so far

(C) O Good outcome from evil situation (Correct Answer) (Chosen option)
(D) O An ideal situation
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Question No.46

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Janaki said to Mona, "Why are you sketching on the paper?".
(A) O Janaki said Mona why she was sketching on the paper.

(B) O Janaki ordered Mona why she was sketching on the paper.
(C) © Janaki asked Mona why she is sketching on the paper.
(

D) © Janaki asked Mona why she was sketching on the paper. (Correct Answer)
(Chosen option)

Question No.47

Choose the word which expresses nearly the opposite meaning of the given word "
BLISS ".

(A) O Rapture

(B) O Paradise

(C) O Sorrow (Correct Answer) (Chosen option)
(D) O Happiness

Question No.48

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) The festival are celebrated / (B) with great enthusiasm and observation / (C) of full-
edged ritual. / (D) No Error

fl

(A O B

B)O C

(C) O A (Correct Answer) (Chosen option)
(D)O D

Question No.49

Fill in the blanks with suitable Preposition from the given alternatives.

A tablespoonful peanut butter contains almost 100 calories.
(A) O to

(B) O between

(C) O since

(D) O of (Correct Answer) (Chosen option)

Question No.50

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Person who eats too much
(A) O Octogenarian

(B) O Pessimist
(C) O Predator
(D) O Glutton (Correct Answer) (Chosen option)
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Question No.51
E
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)
(A) Mother's Day is all about celebrating / (B) the more important woman / (C) in the
world who raised you and shaped you. / (D) No Error
(AAO D
B O A
(C) O B (Correct Answer) (Chosen option)
DO C
Question No.52
E
From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.
A rough diamond.
(A) O A job, task or other activity that is easy or simple
(B) © Would never like to do something
(C) © Happens very rarely
(D) O A person of exceptional character (Correct Answer) (Chosen option)
Question No.53
E
Find the word which is correctly spelt from the given options.
(A) © Inadible
(B) O Qualified (Correct Answer) (Chosen option)
(C) © Reprimend
(D) O Infalible
Question No.54
E
Fill in the blank with suitable word from the given options.
The fifteen people arrested were still in police
(A) O affection
(B) O reduction
(C) O insulation
(D) © detention (Correct Answer) (Chosen option)
Question No.55
E
Fill in the blank with suitable tense.
Our relatives a simple life.
(A) O lead (Correct Answer) (Chosen option)
(B) © have leads
(C) © have leading
(D) O leads
Question No.56
E
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid

CAME oW Nt _atl L F . AFAF AT A A I EALA L AR A a1
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punctuation errors)

(A) Mother's Day celebration is all about honoring your mother, / (B) her motherhood and
the / (C) most special role of mothers in our lives. / (D) No Error

(A) O D (Correct Answer)
(B) O C (Chosen option)
€O A
DO B

Question No.57 M

Book
Find the word which is correctly spelt from the given options.

(A) O Etternal

(B) O Mitigate (Correct Answer) (Chosen option)
(C) O Grievuous

(D) © Ordinence

Question No.58 M

Book
Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

Everybody said, "How well he sings!"
(A) O Everybody exclaimed that he sung very well.

(B) © Everybody exclaimed that he had sung very well.
(C) O Everybody exclaimed that he sings very well.
(

D) O Everybody exclaimed that he sang very well. (Correct Answer) (Chosen
option)

Question No.59 M

Book
Fill in the blank with suitable word from the given options.

Stress may act as a for these illnesses.
(A) © exercise

(B) O failure
(C) O trigger (Correct Answer) (Chosen option)
(D) O attempt

Question No.60 M

Book
Choose the word which best expresses the similar meaning of the given word "
PLUNGE ".

(A) O Rough

(B) O Rise

(C) O Ascent

(D) O Fall (Correct Answer) (Chosen option)

Question No.61 M

Book
Find the word which is correctly spelt from the given options.

(A) O Negligible (Correct Answer) (Chosen option)
(B) O Jugernaut
(C) O Miscariage
(D) © Immuenity
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Question No.62

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Throw under the bus.
(A) O That's true, | agree

(B) O To betray a partner (Correct Answer) (Chosen option)
(C) O Sick
(D) O To get upset

Question No.63

In the following question, one part of the sentence may have an error. Find out which

part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) During Ramadan, Muslims across the globe / (B) abstain from eating, drinking or
smoking / (C) for the entire month from morning and evening. / (D) No Error
(A) O B

(B8) O
C)O € (Correct Answer)
(D) O A (Chosen option)

Question No.64

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

"Stand at ease", The Commander said to his men.
(A) O The Commander asked his men to stand at ease.
(B) O The Commander said his men to stand at ease.

(C) O The Commander commanded his men to stand at ease. (Correct Answer)
(Chosen option)

(D) © The Commander requested his men to stand at ease.

Question No.65

Fill in the blanks with suitable Preposition from the given alternatives.

The rumour spread all the town.
(A) O for
) O on

(B
(C) O across (Correct Answer) (Chosen option)
(D) O since

Question No.66

Choose the word which best expresses the similar meaning of the given word "
ENCUMBRANCE ".

(A) O Burden (Correct Answer)
(B) O Laziness

(C) O Advantage

(D) O Support (Chosen option)
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Question No.67 Marks

Bookmarl
Fill in the blank with suitable word from the given options.

Beyond all, the local scenery is

(A) O practicing

(B) O offering

(C) © enchanting (Correct Answer) (Chosen option)
(D) © drafting

Question No.68 Marks

Bookmar
From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.

Under the weather.
(A) O An ideal situation (Chosen option)

(B) © Make a problem worse
(C) O Sick (Correct Answer)
(D) © Calm down

Question No.69 Marks

Bookmarl
Fill in the blank with suitable tense.

She six matches until that month.
(A) © win

(B) © have won

(C) © had won (Correct Answer) (Chosen option)
(D) O wins

Question No.70 Marks

Bookmarl
Fill in the blanks with suitable Preposition from the given alternatives.

The key chain is the paper.

(A) O beneath (Correct Answer) (Chosen option)
(B) O since

(C) O till

(D) © about

Case Study -71to 75
Directions: Read the passage carefully and answer the questions that follow.
Farmers in Kerala have been facing great economic loss due to loss in life and reduction in milk
yield due to Foot and mouth Disease every year. Besides this the State incurred large economic
losses as a result of the inability to produce and ship processed animal products. It was estimated
that the country is losing over Rs 4000 Crore annually due to FMD.
Since the State does not have the economic resources to implement a large scale disease control
project on its own, it was decided to approach an external agency such as National Dairy
Development Board to provide infrastructural and monetary support. Consequent to a series of
discussions at Government level, NDDB agreed in principle to launch a joint venture programme
to suppress Foot and Mouth Disease in the state.

Question No.71 Marks

Bookmar!
The state incurred economic loss due to:

(A) © Reduction of milk only
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(B) O lts inability to ship animal products only

(C) O Lack of infrastructural facilities

(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.72

Why did the State government approach an external agency, NDDB?
(A) O For infrastructural support only

(B) O For monetary support only
(C) © To ship animal products
(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.73

According to the passage, what does the word 'suppress' mean?
(A) O Amplify

(B) © Strengthen

(C) O Control (Correct Answer) (Chosen option)

(D) © Boost

Question No.74

Read the following statements and select the option as per the passage given
above.

Statement 1: The state decide to approach an external agency to implement a large
scale project of controlling FMD because the state wanted to give a chance to the
external agencies.

Statement 2: The State incurred huge economic losses due to FMD.

(A) © Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true (Correct Answer) (Chosen
option)

(C) © Both the statements are true
(D) © Both the statements are false

Question No.75

What can be done to save the farmers who face economic loss?
(A) © Steps must be taken to control FMD (Correct Answer)

(B) © Steps must be taken to provide them with alternate jobs
(C) © They should be provided with more farming land
(D) © Farmers should be compensated with money (Chosen option)

Question No.76

Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.

The first gramophone was invented by Edison.
(A) O Edison has been invented the first gramophone

(B) © Edison has invented the first gramophone
(C) © Edison will have been invented the first gramophone
(D) O Edison invented the first gramophone (Correct Answer) (Chosen option)

Case Study - 77 to 81
Directions: Read the passage carefully and answer the questions that follow.
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For Binny Bansal, the end of his long run as co-founder of India’s most successful start-up came
Saturday when he began calling colleagues to say he was done. The 37-year-old was stunned
that officials from Walmart Inc., his start-up's new owner, were probing details of an affair years
earlier. An investigation found no evidence of wrongdoing. Nevertheless, a decade after he
created e-commerce leader Flipkart, he was calling to say goodbye.
His ouster, announced Tuesday from Walmart's hometown of Bentonville, Ark., left workers at
Flipkart, half a world away in Bangalore, stunned and struggling to make sense of the cryptic
explanation. They worried about Walmart's motivations and wondered if other Flipkart leaders
would exit.
Question No.77 Ma
Bookn
Read the following statements and select the option as per the passage given
above.
Statement 1: Flipkart is one of the India's most successful start-ups.
Statement 2: Walmart Inc., is the new owner of India's start-up Flipkart.
(A) O Statement 1 is true and statement 2 is false
(B) O Statement 1 is false and statement 2 is true
(C) O Both the statements are true (Correct Answer) (Chosen option)
(D) © Both the statements are false
Question No.78 Ma
Bookn
What is Walmart's motivation in probing details regarding an old issue?
(A) O To grab complete control of Flipkart
(B) O To push Bansal aside
(C) O The motive is not known (Correct Answer) (Chosen option)
(D) O To expel all workers in Flipkart
Question No.79 Ma
Bookn
Who is Bansal's start-up's new owner?
(A) O Amazon
(B) O Walmart (Correct Answer) (Chosen option)
(C) O EBay
(D) O Flipkart
Question No.80 Ma
Bookn
According to the passage, what does the word ‘cryptic' mean?
(A) O Distinct
(B) O Evident
(C) O Obvious
(D) O Puzzling (Correct Answer) (Chosen option)
Question No.81 Ma
Bookn
Binny Bansal was the one who created
(A) O Walmart
(B) O Flipkart (Correct Answer) (Chosen option)
(C) © Amazon
(D) O Both 1and 2
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Question No.82

Fill in the blanks with suitable Preposition from the given alternatives.

The book is the table.

(A) O across

(B) O about

(C) © through

(D) © on (Correct Answer) (Chosen option)

Question No.83

From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.
Rabbit hole.
(A) © Understand something complicated
B) O To joke with someone

(
(C) O Enter a chaotic or problematic situation (Correct Answer) (Chosen option)
(D) © My patience has run out

Question No.84

Fill in the blank with suitable word from the given options.

Shyamala her summer income by painting houses.
(A) O augmented (Correct Answer) (Chosen option)

(B) O allowed
(C) O aliened
(D) O chaired

Question No.85

Fill in the blanks with suitable Article from the given alternatives.

Our college has set up counselling centre and a student welfare group
that helps students to cope up with the stress.
(A) O the

(B) O an
(C) © No article
(D) © a (Correct Answer) (Chosen option)

Question No.86

In the following question, one part of the sentence may have an error. Find out which

part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) The legendary all-rounder recalled how / (B) Rohit had impress him / (C) with his
leadership skills. / (D) No Error

AO D
(B) © B (Correct Answer) (Chosen option)
(O C
D)YO A
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Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Hiromu Inada from Japan already hold the title of a world’s oldest Ironman.

(A) O from Japan already holds the title of the (Correct Answer) (Chosen option)
(B) O for Japan already holds the title of the

(C) O from Japan already hold the title of an

(D) O The given sentence is correct

Question No.88

Bo
Choose the word which best expresses the similar meaning of the given word "
SUBSTANTIAL ".
(A) O Miniature
(B) O Selfish
(C) O Insignificant
(D) O Important (Correct Answer) (Chosen option)
Question No.89
Bao
Fill in the blanks with suitable Article from the given alternatives.
My friend was FBI agent in his early age.
(A) O the
(B8O
(C) O No article
(D) O an (Correct Answer) (Chosen option)
Question No.90
Bao
Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.
He said to his friend, "I know where everyone is"
(A) O He told his friend that he knew where was everyone. (Correct Answer)
(Chosen option)
(B) O He told us friend that he knew where was everyone.
(C) O He narrated his friend that he knew where was everyone.
(D) O He told him friend that he knew where is everyone.
Question No.91
Ba

Convert the given direct/ indirect speech to indirect/ direct speech with the help of the
given options.

He said to me, "What can | do for you?”

(A) O He asked me what he can do for me.

(B) © He asked me what he could do for me. (Correct Answer) (Chosen option)
(C) O He asked me what he could done for me.

(D) O He begged me what he could do for me.

Question No.92
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| experienced euphoric feeling after winning the game.
(A) O the
(B) O an (Chosen option)
(C) O a(Correct Answer)
(D) © No article
Question No.93
B
Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.
You should obey your teachers.
(A) O Your teachers should being obeyed by you
(B) O Your teachers should be obeyed by you (Correct Answer) (Chosen option)
(C) O Your teachers be obeyed by you
(D) O Your teachers should been obeyed by you
Question No.94
B
Fill in the blanks with suitable Prepaosition from the given alternatives.
| saw him walking the street.
(A) O at
(B) O across (Correct Answer) (Chosen option)
(C) O with
(D) O for
Question No.95
B
Find the word which is correctly spelt from the given options.
(A) O Documant
(B) O Imaterial
(C) © Emanicipate
(D) O Fragile (Correct Answer) (Chosen option)
Question No.96
B
From the given alternatives, choose the one that best expresses the meaning of the
given idiom/phrase.
Low hanging fruit.
(A) O Something that is easy to take advantage of (Correct Answer) (Chosen
option)
(B) © Something or someone that is very impressive
(C) O To be defeated by someone
(D) © Go insane or crazy
Question No.97
Choose the best option from the given alternatives which can be substituted for the &
given word/sentence.
An event causing sudden damage or suffering
(A) O Ephemeral
(B) O Catastrophe (Correct Answer) (Chosen option)
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(C) O Nostalgia
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(D) O Chronology
Question No.98
B
Fill in the blanks with suitable Preposition from the given alternatives.
Centre approves the construction of buds Kaleswaram project.
(A) O about
(B) O by
(C) O under (Correct Answer) (Chosen option)
(D) O since
Question No.99
B
Find the correct active/ passive voice for the given sentence in passive/ active voice
from the given alternatives.
| will present my concepts at the meeting tonight
(A) O My concepts will be present at the meeting tonight
(B) O My concepts will being presented at the meeting tonight
(C) O My concepts will been presented at the meeting tonight
(D) © My concepts will be presented at the meeting tonight (Correct Answer)
(Chosen option)
Question No.100
B
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.
Constant efforts to achieve something
(A) O Dormitory
(B) O Reservoir
(C) O Perseverance (Correct Answer) (Chosen option)
(D) O Wardrobe
General Knowledge - General Knowledge
Question No.1
B
Find the next number in the series.
152, 223, 300, 383, 472, 7
(A) O 587
(B) O 567 (Correct Answer) (Chosen option)
(C) O 597
(D) O 577
Question No.2
Bi
Which organ of United Nations elects Member States to the UN Human Rights Council?
(A) O United Nations economic and social council
(B) O United Nations Security Council
(C) O Trusteeship Council
(D) O United Nations General Assembly (Correct Answer) (Chosen option)
Question No.3
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B
P is the mother of Q and R. R is the father of S and T. How is P related to T?
(A) O Aunt
(B) O Mother
(C) O Grandmother (Correct Answer) (Chosen option)
(D) © Mother-in-law
Question No.4
B
Find the next number in the series.
29,42, 55,68, 81,7
(A) O 92
(B) O 89
(C) O 94 (Correct Answer) (Chosen option)
(D)O 91
Question No.5
B
Which country is planning to build the world's first “Bitcoin City”?
(A) O lsrael
(B) O EIl Salvador (Correct Answer) (Chosen option)
(C) O South Korea
(D) © South Africa
Question No.6
B
The Global Astrometric Interferometer for Astrophysics(Gaia) is an astronomical
observatory mission of which of the following space agencies?
(A) O European Space Agency (Correct Answer) (Chosen option)
(B) O Indian Space Research Organisation
(C) © Canadian Space Agency
(D) © Russian Federal Space Agency
Question No.7
B
Which Delhi Sultan was defeated by Babur in the First Battle of Panipat in 15267
(A) O Ibrahim lodi (Correct Answer) (Chosen option)
(B) © Alauddin Khalji
(C) © Muhammad bin Tughlug
(D) O lltutmish
Question No.8
B
Four of the following five are alike in a certain way and so form a group. Which is the
one that does not belong to that group?
JG, VS, RO, FC, Mi
(A) O VS
(B) O JG
(C) O MI (Correct Answer) (Chosen option)
(D)O RO
Question No.9
B
In which year, the Universal Declaration of Human Rights was adopted by United
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Nations General Assembly?
(A) O 1948 (Correct Answer) (Chosen option)

(B) O 1954
(C)O 1952
(D) O 1944

Question No.10

Which Indian movie gets the best film award at 20th Dhaka International Film Festival?
(A) O Netrikann

(B) O Koozhangal (Correct Answer) (Chosen option)
(C) O Karnan
(D) O Thalapathi

Question No.11

IfM=20,N=5,0=2P=10,thenNxO-M+P=7?
(A) O 12

B O 6

(C) O 8 (Correct Answer) (Chosen option)

(D)O 14

Question No.12

Which was the first kingdom annexed by British under Doctrine of Lapse in 18487
(A) O Mysore

(B) O Jhansi

(C) O Satara (Correct Answer) (Chosen option)

(D) © Jaipur

Question No.13

Which one of the following alternatives will perfectly complete the given figure?
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(Correct Answer) (Chosen option)

(D) O

Question No.14

Which article of Universal Declaration of Human Rights states: 'Everyone has the right tc
education'?

(A) O Article 26 (Correct Answer)
(B) O Article 14

(C) O Atticle 18

(D) O Article 3

Question No.15

Read the information carefully and answer the following question.

A+B means A is the Brother of B
A-B means A is the Sister of B
A*B means A is the mother of B
A/B means A is the father of B

In the given expression P*Q*R-S, how is P related to S?
(A) O Maternal Grand father

(B) O Paternal Grand father
(C) © Paternal Grand mother
(D) O Maternal Grand mother (Correct Answer) (Chosen option)

Question No.16

In which Indian state is the famous Nehru Trophy Boat Race held?
(A) O Kerala (Correct Answer) (Chosen option)

(B) O Gujarat

(C) O Odisha

(D) O Goa

Question No.17

Which of the following were the earliest coins of ancient Odisha?
(A) © Rupee Coins

(B) © Mohar Coins
(C) © Dinar Coins
(D) O Punch marked Coins (Correct Answer) (Chosen option)

Question No.18
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Which of the following instruments measures Electric Current?
(A) O Potentiometer

(B) O Vernier Caliper
(C) © Dynamometer
(D) © Ammeter (Correct Answer) (Chosen option)

Question No.19

Find the next number in the series.

18. 14,14 16, 32: 35 105;?

(A) O 432

(B) O 436

(C)O 110

(D) © 109 (Correct Answer) (Chosen option)

Question No.20

In this question, a passage is given followed by a statement. Read the passage
carefully and judge the statement based on the given passage.

The current Australia cricket team has lost three of the last five Test series it has played.
It has lost the last two series it has played, one of them against Pakistan, hardly a
powerhouse of the current game. Australia is enfeebled by the absence of their two best
batsmen, Steve Smith and David Warner, both serving suspensions.

The game itself is at a crossroads in Australia, with feverish introspection and hand
wringing about the manner in which the national team plays the game, the aggression it
displays on the field, the lack of respect it shows rivals, and the way in which it ignores
the means to achieve the sole, coveted end of winning. Australian cricket has seldom
been at such a low ebb. Now is the best time to beat them in their backyard. Put another
way, if India cannot beat Australia in Australia in this series, it will show that the hype
around this team is simply that: hype.

Statement: The current Australia cricket team has won two of the last five Test series it
has played.

Choose the appropriate one from the following options
A -The statement is definitely true

B -The statement is probably true

C -The statement is cannot be determined

D -The statement is definitely false

(A) O C (Correct Answer)
B8O D

(C)O B

(D) © A (Chosen option)

Question No.21

B
The UN Convention on the Rights of the Child (UNCRC) applies to everyone under the
age of years.

(A) O Twenty

(B) O Nineteen

(C) O Eighteen (Correct Answer) (Chosen option)
(D) © Twenty One

Question No.22

B
If in the number sequence 5783211456 32, all the odd numbers are increased by
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one and all the even numbers are increased by one, then the new number sequence are
arranged in ascending order, which will be the fifth digit from the right?

(A O 3
(B) O 6 (Correct Answer) (Chosen option)
(C)O 7
(D)O 4

Question No.23

Bo
In a certain code language:

‘clean and neat' is written as 'so ra ni',
'neat white floor' is written as 'ju pa ra’,
'bright clean floor' is written as 'ni ju ma'.

What does the code 'ma' stand for?

(A) O bright (Correct Answer) (Chosen option)
(B) O clean

(C) O neat

(D) O floor

Question No.24

B
Find the next number in the series. ‘
7,6,13, 38,153, 7
(A) O 764 (Correct Answer) (Chosen option)
(B) © 765
(C)O 762

(D) O 761

Question No.25

Be
How many squares are there in the given figure?

(A) O 20
(B)O 21
(C)O 18
(D) © 17 (Correct Answer) (Chosen option)

Question No.26

Bo
What is the retirement age for a Supreme Court judge in India?

c26ot.onlineapplicationform.org:8585/QP1/82SmST0dPdfOt3vZYRIsMg==_html
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(A) O 65 Years (Correct Answer)
(B) O 62 Years (Chosen option)

(C) © 60 Years
(D) © 50 Years

Question No.27

DAVINCI mission, recently seen in news, is the space mission of which space agency?
(A) O National Aeronautics and Space Administration (Correct Answer)

(B) O Indian Space Research Organisation

(C) O Russian Federal Space Agency

(D) O European Space Agency (Chosen option)

Question No.28

Who among the following wrote the book Called 'Planned Economy for India'?
(A) O M.N. Roy

(B) © Jawaharlal Nehru
(C) O Sardar Vallabhbhai Patel
(D) O M. Visvesvaraya (Correct Answer) (Chosen option)

Question No.29

Disguised and seasonal unemployment is seen in which of the following Sectors?
A) O Manufacturing
B

) O Banking
C) O Information Technology

(
(
(
(D) O Agriculture (Correct Answer) (Chosen option)

Question No.30

What is the measure of inflation, which excludes items that face volatile price
movement?
(A) O Core Inflation (Correct Answer)

(B) O Headline Inflation
(C) O Retail Inflation
(D) © Hyperinflation

Question No.31

In this question, a passage is given followed by a statement. Read the passage
carefully and judge the statement based on the given passage.

When Shah Jahan eternalised his love for Mumtaz, he must have believed that the river
would be flowing forever. There was no solid ground on which the foundation could be
built. So they used a well foundation, an engineering practice using deep wells to lower
the water table and filling them with rocks and mortar. Finally they were capped with
wooden, boxlike structures on which the mausoleum was constructed.

The Yamuna is an integral part of the Taj's design and there was no anticipation that it
would dry or become narrow. But the river has narrowed and it is polluted. The wooden
foundations are likely to become brittle and might disintegrate because, as Venice, built
on a wooden foundation, shows, longevity of wood increases when it is submerged in
water. When the wood is not exposed to oxygen there are no microorganisms to
promote decay. A dry Yamuna could promote disintegration of the wooden foundations,
the corrosive effect of the polluted water adding to the decay.

r26nt nnlineannlicatinnfarm arn-8ARAMNP1/87 SMSTNAPAfNI3uZ YR IsMn== html

JoinUs-‘ > f


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Statement: Taj Mahal was built on a strong solid ground on the bank of river Yamuna.

Choose the appropriate one from the following options
A -The statement is definitely true
B -The statement is probably true
C -The statement is cannot be determined
D -The statement is definitely false
YO D (Correct Answer) (Chosen option)
B) O
C) o B

(A
(
(
D)O A

Question No.32

Bo
Which one of the following images numbered as (1), (2), (3), (4) will be the next image
for the given series?

Question No.33

Bo
Which of the following is the southernmost point of India?

(A) O Kovalam
) O Port Blair

(B
(C) O Indira Point (Correct Answer) (Chosen option)
(D) © Gulf of Mannar

Question No.34

Bo
Which of the following is the Oldest fold Mountain Range in India?

(A) O Purvachal

(B) O Siwaliks

(C) © Himadri

(D) O Aravalli (Correct Answer) (Chosen option)

Question No.35

Bo
Who among the following was the Chairman of National Commission for Religious and

Linguistic Minorities constituted by the government of India in October 20047
(A) © Rangnath Mishra (Correct Answer)

(B) ©O K. M. Nanavati (Chosen option)
(C) O Gopal K. Singh
c260ot.onlineapplicationform.org:8585/QP1/82SmSTOdPdfOt3vZYRIsMg==.html
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(D) O Rajinder Sachar

Question No.36

B
A stands in the 15th position from the front of the queue and there are 3 persons
between A and B . B stands after A. If the first 13 persons are removed from the queue
then what is the position of B from the front of the queue?
(A) O 10
B)O 4
(C) O 6 (Correct Answer) (Chosen option)
OO 9
Question No.37
B
What is the name of India's first Covid-19 vaccine for animals?
(A) © Ancovishield
(B) O Ancovax (Correct Answer)
(C) ©O Ancovaxin
(D) O Ancorbevax (Chosen option)
Question No.38
B

Two persons A and B, stand at the same point. A walks 3km East, takes a right turn and
walks 5km and turns left and walks 4km. B walks 3km towards West; turns right and
walks 2km; turns right again and walks 10km. How far is A from B?

(A) O 7km (Correct Answer) (Chosen option)
(B) O 11km
(C) O 9km
(D) O 5km

Question No.39

B
If the first half of the word RESTAURANT is reversed, which of the following will be the
second to the right of the seventh letter from the left end?

(A)O A
BOT
(C) O N (Correct Answer) (Chosen option)
DO R

Question No.40

India’s first 100% women-owned FLO industrial park promoted by FICCI Ladies
Organization (FLO) begins operations in which of the following places?

(A) O Hyderabad (Correct Answer)
(B) O Pune

(C) O Bengaluru

(D) O Gandhinagar (Chosen option)

Question No.41

B
Pointing to a woman, a man said, “She is the only daughter of my maternal grandfather
". How is man related to the woman?

(A) O Father
(B) O Uncle
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(C) O Son (Correct Answer) (Chosen option)
(D) © Daughter

Question No.42

Which of the following became the first company in the world to hit a $3 trillion market
valuation?

(A) O Google
) O Microsoft

(B
(C) O Apple (Correct Answer) (Chosen option)
(D) O Tesla

Question No.43

B
A box containing the denominations of twenty five paise coins, fifty paise coins and two

rupee coins amount to Rs.660. There are equal number of coins in all denominations.
Find the total number of two rupee coins in the box.

(A) O 250
) O 230

(B
(C) O 240 (Correct Answer) (Chosen option)
(D) © 260

Question No.44

B
If the first half of the English alphabet series is reversed, how many letters will be there
between J and Q?

(A) O 12 (Correct Answer) (Chosen option)

B8O 1
(©)O 13
(D)O 10

Question No.45

Which among the following is a direct tax in India?
(A) O Goods and Service Tax

) O Value Added Tax

(B
(C) O Income Tax (Correct Answer) (Chosen option)
(D) O Excise Duty

Question No.46

Which of the following numbers in the Venn Diagram represents lions and tigers but
neither leopards nor elephants?

(A) O 1
(B) O 7 (Correct Answer) (Chosen option)
(C)O 6

ANB ak aul
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DYO 8
Question No.47
B
What is the theme of Human Rights Day 20217
(A) O Let's stand up for equality, justice and human dignity
(B) O EQUALITY - Reducing inequalities, advancing human rights (Correct
Answer)
(C) © Recover Better - Stand Up for Human Rights
(D) O Youth Standing Up for Human Rights (Chosen option)
Question No.48
B
In May 2021, ISRO successfully conducted the static test of a human-rated solid rocket
booster (HS200) for the Gaganyaan programme at:
(A) O Bengaluru
(B) O Sriharikota (Correct Answer) (Chosen option)
(C) © Thiruvananthapuram
(D) © Mahendragiri
Question No.49
B
How many times has the Preamble of the Indian Constitution been amended so far?
(A) O 1 (Correct Answer) (Chosen option)
B)O 3
€0 8
DO 5
Question No.50
B
Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
(A) O Fruit
(B) O Leaf
(C) O Sunlight (Correct Answer) (Chosen option)
(D) O Stem
Question No.51
B
Which of the following reactions is the energy source of Sun?
(A) © Nuclear Fermentation Reaction
(B) O Nuclear Diffusion Reaction
(C) O Nuclear Fusion Reaction (Correct Answer) (Chosen option)
(D) O Nuclear Fission Reaction
Question No.52
B
Which of the following organisations officially adopted inflation targeting as the monetary
policy framework for the Indian economy in March 20157
(A) O Reserve Bank of India (Correct Answer) (Chosen option)
(B) O Securities and Exchange Board of India
(C) O NITI Aayog
(D) © Finance Commission
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Question No.53

Who among the following appoints the Chairperson and members of 'State Human
Rights Commission' in India?

(A) O Chief Secretary of the state

(B) © Chairman of National Human Rights Commission

(C) O Vice-President of India

(D) O Governor of the state (Correct Answer) (Chosen option)

Question No.54

Which is the largest lake of Odisha?

(A) O Kanjia Lake

(B) O Chilika Lake (Correct Answer) (Chosen option)
(C) © Anshupa Lake

(D) O Sara Lake

Question No.55

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.

(A) O Inexpensive

(B) © Cheap

(C) O Costly (Correct Answer) (Chosen option)
(D) © Reasonable

Question No.56

IfA=252,B=32 C=9 D=5 E =92 then
A+CxD-B+E=?

(A) © 200 (Correct Answer) (Chosen option)
(B) © 210
(C)C 170
(D) O 150

Question No.57

In the series given below, how many 6s are there each of which is exactly divisible by its
immediate succeeding number?

362648632436366264362
(A) O four

(B) O six (Correct Answer)

(C) O five (Chosen option)

(D) O three

Question No.58

Which committee recommended for the separation of the Railway Budget from the
Central Budget in 19217

(A) © S.P. Ganguly Committee

(B) © Bibek Debroy Committee (Chosen option)
(C) © Acworth Committee (Correct Answer)
(D) © Suresh Tendulkar Committee
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Question No.59

Which of the following temples in Odisha is conceived as a giant stone chariot with 12 ®
pairs of wheels?

(A) O Jagannath Temple, Puri

(B) O Lingaraj Temple, Bhubaneswar

(C) © Bramheswara Temple, Bhubaneswar

(

D) © Sun Temple, Konark (Correct Answer) (Chosen option)

Question No.60

B
All persons in a row are facing North, K is 4th to the right of L who is at the extreme left.

K has 4 persons on the right. What is the total number of persons in the row?

(A) O 6
(B)O 1

(CYO 15
(D) © 9 (Correct Answer) (Chosen option)

Question No.61

In March 2022, the Union Cabinet chaired by Prime Minister Shri Narendra Modi has

approved the establishment of the WHO Global Centre for Traditional Medicine (WHO
GCTM) at:

(A) © Chennai, Tamil Nadu

(B) © Kochi, Kerala

(C) © Dehradun, Uttarakhand (Chosen option)
(D) O Jamnagar, Gujarat (Correct Answer)

Question No.62

B
In which year the term 'socialist' was added to the Preamble of the Indian Constitution?

(A) O 1985
(B) O 1976 (Correct Answer) (Chosen option)
(CYO 1967
(D) © 1971

Question No.63

B
In a certain code language:
‘clean and neat' is written as 'so ra ni',
'neat white floor' is written as 'ju pa ra',
'bright clean floor' is written as 'ni ju ma'.

What is the code for 'and' in the given code language?
(A) O ju

(B) O so (Correct Answer) (Chosen option)
(C) O ni
(D)O ra

Question No.64

Who was the first Speaker of Lok Sabha?
(A) O GV Mavalankar (Correct Answer) (Chosen option)
(B) © Hukam Singh

(C) © Ananthasayanam Ayyangar
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(D) © Bali Ram Bhagat

Question No.65

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.

(A) O Gold

(B) O Platinum

(C) O Mercury (Correct Answer) (Chosen option)
(D) O Silver

Question No.66

Which letter is fourth to the right of the sixteenth letter from the right end of the English
alphabet series?

(A)O N
(B) © O (Correct Answer) (Chosen option)
C)O P
OO M

Question No.67

Which Portuguese Governor abolished Sati in Goa?
(A) O Vasco Da Gama

(B) © Francisco De Almeida
(C) © Afonso de Albugquerque (Correct Answer) (Chosen option)
(D) © Pedro Alvares Cabral

Question No.68

In which of the following places, we can find the Mangrove forests in India?
(A) O Nilgiri Hills

(B) O Sundarbans (Correct Answer) (Chosen option)

(C) © Nallamalla hills

(D) © Pachmarhi hills

Question No.69

Four of the following five are alike in a certain way and so form a group. Which is the
one that does not belong to that group?
Herd, Flock, Shoal, Pride, Lion

(A) O Flock
(B) O Herd
(C) O Lion (Correct Answer) (Chosen option)
(D) © Shoal

Question No.70

Which company has recently commenced India's first-of-it's-kind project of mixing
hydrogen into natural gas system at Indore, Madhya Pradesh?
(A) O ONGC

(B) O Indian Qil Corporation
(C) O GAIL (Correct Answer) (Chosen option)
(D) © NTPC Limited
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Question No.71

E
What is the minimum age required to contest in the Lok Sabha elections?
(A) O 35 Years
(B) O 30 Years
(C) O 25 Years (Correct Answer) (Chosen option)
(D) O 18 Years
Question No.72
E
In January 2022, who has been appointed as chairman of the Indian Council of Historical
Research (ICHR)?
(A) O Sirpi Balasubramaniam
(B) © Khalil Dhantejvi (Chosen option)
(C) O Raghuvendra Tanwar (Correct Answer)
(D) O Tara Jauhar
Question No.73
E
In June 2022, which of the following web browsers was replaced by Microsoft Edge
browser in Windows Operating System?
(A) O Internet Explorer (Correct Answer) (Chosen option)
(B) © Opera
(C) © Brave
(D) O Firefox
Question No.74
E

When was the Poona Pact signed between Mahatma Gandhi and Dr B R Ambedkar in
the Yerwada Central Jail?

(A) O September, 1932 (Correct Answer) (Chosen option)
(B) O August, 1932

(C) © July, 1932

(D) © November, 1932

Question No.75

In which state, the Kolar Gold Fields is located?

(A) O Karnataka (Correct Answer) (Chosen option)
(B) © Odisha

(C) O Telangana

(D) © Andhra Pradesh

Question No.76

Which of the following is a statutory body in India?

(A) O Election Commission of India

(B) O National Disaster Management Authority (Correct Answer) (Chosen option)
(C) © Finance Commission

(D) © NITI Aayog

Question No.77
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Replace the question mark with an option that follows the same logic applied in the first
%&\lp\lirl.: Owlet :: Goat : ??

(A) O Calf

(B) O Cub

(C) O Kitten

(D) O Kid (Correct Answer) (Chosen option)

Question No.78

Which of the following numbers in the Venn Diagram represents youth who are
unemployed but not illiterate?

Youth literate

Aeb

Unemployed

Question No.79

Which of the following Parts of the Indian Constitution is entitled as "The Union
Territories"?

(A) O Partll

(B) O PartIVA

(C) O Part VIl (Correct Answer) (Chosen option)
(D) © Part VI

Question No.80

Which part of the Indian Constitution contains 'Fundamental Duties'?
(A) O PartIVA (Correct Answer) (Chosen option)

(B) O Part XIVA
(C) O Part IXA
(D)O PartV

Question No.81

India has recently set up its first-ever 'liquid mirror telescope' at which of the following
states?

(A) O Kerala
(B) O Sikkim
(C) © Odisha
(D) O Uttarakhand (Correct Answer) (Chosen option)
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Question No.82

Where is National Remote Sensing Centre (NRSC) of ISRO located?
(A) O Patna

(B) O Allahabad

(C) © Shimla

(D) © Hyderabad (Correct Answer) (Chosen option)

Question No.83

Which one of the following acids is produced in human stomach?
(A) © Nitric Acid

(B) O Hydrochloric Acid (Correct Answer) (Chosen option)
(C) © Phosphoric Acid

(D) © Sulphuric Acid

Question No.84

Which is the first element in the Periodic Table?

(A) O Nitrogen

(B) O Lithium

(C) © Sodium

(D) O Hydrogen (Correct Answer) (Chosen option)

Question No.85

Which bank acts as the 'lender of the last resort' in India?

(A) O Reserve Bank of India (Correct Answer) (Chosen option)
(B) O Indian Bank

(C) O State Bank of India

(D) O Indian Overseas Bank

Question No.86

Who among the following was the first Viceroy of India?
(A) O Lord Dalhousie

(B) O Lord Canning (Correct Answer)
(C) © Robert Clive
(D) © William Bentinck (Chosen option)

Question No.87

What is the term of members in United Nation Human Rights Council?
(A) O 2 Years (Chosen option)

(B) O 3 Years (Correct Answer)
(C) O 4 Years
(D) O 1 Year

Question No.88

What is the rank of India in Transparency International "Corruption Perceptions Index
(CPI) 2021"?

(A) O 65th
O
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( ) 85th (Correct Answer) (Chosen option)
(C) O 55th
(D) O 75th

Question No.89

Who among the following introduced Blue Water Policy?
(A) O Vasco Da Gama

(B) O Francisco De Almeida (Correct Answer) (Chosen option)
(C) O Pedro Alvares Cabral
(D) O Alfonso de Albuquerque

Question No.90

Which of the following isotopes is used to make nuclear weapons?
(A) O Radon-222

(B) O Silicon-28
(C) © Xenon-131
(D) © Uranium-235 (Correct Answer) (Chosen option)

Question No.91

A man is standing in a lawn facing North-East direction. If the man turns 45 degrees in
clockwise direction and 135 degrees in anti-clockwise direction, which direction will he
face now?

(A) O South-East
(B) O South-West
(C) O North-West (Correct Answer) (Chosen option)
(D) O North-East

Question No.92

Read the following statements and answer the following question.
A@B means A is the husband of B

A#B means A is the wife of B

ASB means A is the son of B

A%B means A is the daughter of B

In the equation P#QS$R#S, How is P related to S?
(A) O Mother-in-law

(B) O Daughter-in-law (Correct Answer) (Chosen option)
(C) O Father-in-law
(D) O Son-in-law

Question No.93

Replace the question mark with an option that follows the same logic applied in the first
pair.

Hen : Chick :: Cow : ??

(A) O Lamb

(B) O Kitten

(C) O Puppy

(D) O Calf (Correct Answer) (Chosen option)

Question No.94
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If 3 is subtracted from the middle digit of each of the following numbers and then the
position of the digits are reversed, which of the following will be the first digit of the
middle number?

964 273 564 782 442

A O 7

(B) O 4 (Correct Answer)
(C) O 3 (Chosen option)
D)O 5

Question No.95

In this question, relationship between different elements is shown in the
statements. These statements are followed by two conclusions:

Statements: P=1<CsT,EsR<U<T
Conclusion:

hP<R

iR<P

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

A)

B) O (Chosen option)
C)O B

(A)
(
(
(D) O C (Correct Answer)

Question No.96

Anthrax is an infection caused by
(A) O Protozoa

(B) O Algae
(C) O Virus (Chosen option)
(D) O Bacteria (Correct Answer)

Question No.97

Which among the following is the largest nesting ground for the Olive Ridley sea turtles
in Odisha?

(A) O Aryapalli Beach

(B) O Gahirmatha Beach (Correct Answer) (Chosen option)
(C) O Dagara Beach

(D) O Gopalpur Beach

Question No.98

Find the odd image out in the given series.
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Question No.99

Who has the authority to create or abolish "State Legislative Council"?
(A) O Governor of the state

(B) O Parliament of India (Correct Answer) (Chosen option)
(C) O President of India
(D) © State Legislative Assembly

Question No.100

A dice is numbered from 1 to 6. Which number is opposite to 1?

'z 4 1
5 5
3 ’ 6 4
(A) O 6 (Correct Answer) (Chosen option)
(B)O 5
(C)O 2
(D)O 4
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